
Securing cargo. We invented the concept.

82
02

13
_D

AT
 C

  

Friktionsfäste förhöjt
Friction attachment/Reibungsbefestigung

Art.nr 820213



BezeichnungDescriptionBenämningPcsPart.noPos.
GrundplatteMounting plateMonteringsplatta Friktionsfäste18007711
Kunstoff plattePlastic plate Glidplatta T=20 mm18006462
Befestigungs BügelLower clampUnderbygel friktionsfäste18006023
SpiralfederSpringFJÄDER FRIKTIONSFÄSTE28006044
AusgleichspitzPlastic plungePLASTPLUNCH28006035
DistanzhalterShimShims Friktionsfäste38006166
SchraubeScrewSkruv M6S M20x150 FZB22111757
DistanzDistanceDistans Stomme 1718202168
Obere KlammerClamp upperÖverbygel 190 115 14718007659
SchraubeScrewSKRUV M6S M12x150 FZB121109610
SicherungsmutterLock nutLåsmutter LM6M låg M12 FZB121185711
ScheibeWasherBRICKA BRB M20 FZB221190212
SicherungsmutterLock nutLåsmutter LM6M Hög M20 FZB221186113
SchraubeScrewSkruv MF6S M10x30 FZB 10,9221121414
SicherungsmutterLock nutLåsmutter LM6M låg M10 FZB221185615

Securing cargo. We invented the concept.

82
02

13
_D

AT
 C

 

ExTe Fabriks AB, SE-820 62 Färila Sweden. Tel: +46 (0)651 175 00. E-mail: info@exte.se www.exte.se

Friction attachment Page 2 

ExTe förbehåller sig rätten att göra ändringar i specifikationer och 
annan information i detta dokument utan förhandsinformation.
 
ExTe reserves the right to make changes in specifications and other 
information contained in this document without prior notice.
 
ExTe behält sich das Recht vor, Änderungen an Spezifikationen und anderen 
Informationen in diesem Dokument ohne vorherige Ankündigung vorzunehmen.

15

(A) 3-5

75

20

(1
7)

50
132

296

19
0

29
2

16
0

Vikt / Weight / 
Gewicht: 16,7 kg

7

3

4

52

6

8

9

10

11

12

13

380 Nm

50 Nm

21
1

Note! Theoretical values, depending on the color thickness

and flatness of the frame flange, an extra shim may be 

needed. The measurement (A) must always be 3-5mm 

when mounting the attachment.

For 20mm sliding plate and 15mm 

flange.

Use 3 pcs of shim plates. 800616.

The measure in the leaflet is for 

that combination.

Number of Shim. Pos. 6

Sliding Pad
(mm)

Frame
thickness

(mm)

Number of
shim (3mm)

Net.
distance A

(mm)

20 15 3 4

20 12 2 4

20 10 1 3

20 8 1 5

15 15 1 3

15 12 0 3

15 10 0 5

8

1

14

15

50 Nm


